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énoncé

Soit A, B, C et D quatre points du plan tels que
(

#    »

AB,
#    »

CD
)

=
2π

3
.

Donner une mesure de :

1

(

#    »

BA,
#    »

DC
)

2

(

#    »

CD,
#    »

AB
)

3

(

#    »

AB,
#    »

DC
)

4

(

#    »

DC,
#    »

AB
)
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correction

1

(

#    »

BA,
#    »

DC
)
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correction

1

(

#    »

BA,
#    »

DC
)

(

#    »

BA,
#    »

DC
)

=

(

−

#    »

AB,−
#    »

CD
)

=

(

#    »

AB,
#    »

CD
)

=
2π

3
.
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correction

2

(

#    »

CD,
#    »

AB
)
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correction

2

(

#    »

CD,
#    »

AB
)

(

#    »

CD,
#    »

AB
)

= −

(

#    »

AB,
#    »

CD
)

= −

2π

3
.
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correction

3

(

#    »

AB,
#    »

DC
)
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correction

3

(

#    »

AB,
#    »

DC
)

(

#    »

AB,
#    »

DC
)

=

(

#    »

AB,−
#    »

CD
)

=

(

#    »

AB,
#    »

CD
)

+ π =
2π

3
+ π =

5π

3
.
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correction

3

(

#    »

AB,
#    »

DC
)

(

#    »

AB,
#    »

DC
)

=

(

#    »

AB,−
#    »

CD
)

=

(

#    »

AB,
#    »

CD
)

+ π =
2π

3
+ π =

5π

3
.

5π

3
− 2π = −

π

3
donc la mesure principale est −

π

3
.
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correction

4

(

#    »

DC,
#    »

AB
)
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correction

4

(

#    »

DC,
#    »

AB
)

(

#    »

DC,
#    »

AB
)

= −

(

#    »

AB,
#    »

DC
)

= −

(

−

π

3

)

=
π

3
. D’après la question

précédente.
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